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JACEY: Make him put up a bond!
HAROLD: What am I hearing?

(HAROLD blows pitch—pi;;e. ) HAROLD: Say —
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Ice Creeeem.
OLIN: Ice Cream, but I don’t sing young man,
if that's what you're —
HAROLD: Allright, talk then. Down here!
OLIN: Ice Cream. HAROLD: See?
HAROLD: Talk slow! Singing is only sustained talking.
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Ice Creeeem.
(HAROLD) o ~ HAROLD: Now, you, sir!
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HAROLD: Ladies, from now on you'll never
see one of those men without the other three.

EULALIE: Oh, Professor, you're wrong!
Why they’ve hated each other for fifteen years.
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—Sin in “sin - cere”? Where is the good in “good -
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bye”? Your ap - pre - hen-sions con - fuse me,
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What can be fair in “fare - well”, dear, while
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one sin - gle star shines a - bove?
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one sin - gle star shines a - bove?
0
.  (OLIVER) = wall
T e — = e I | 4
= | | I 1 I i
bl b1 LA | | | I 1 L
| I L) T
one sin - gle star shines a - bove?
LIN
o U (o. ) ; ; : i : — V7l
&5 [ ﬁ }_ : i : | : F 2 : # X —
$ & & @ - < = I 1 &
L t |
one sin - gle star shines a - bove?
. " ten ten. ten ,<41 f
; 38 m - =l
] ——F - | = S
1 I J I 1
How can there be an -y sin in “sin - cere”?
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How can there be an - y sin in “sin - cere”?
o)
- -=:____—*(ﬁ) -
:i‘r 19 [ el F’ t'___lp !
® i 1 I 1 t
1 1 ia| 1 I 1 "
[ I | :
How can there be an - y sin in “sin - cere”?
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Aren’t we sin - cere - ly in love?
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Aren’t we sin - cere - ly in love? Oh, we're in love.
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Aren’t we sin - cere - ly in love? Oh, we're in love.
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Aren’t we sin = cere - ly in love? Oh, we're in love,
Applause Segue
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